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Ostacoli alti/2
Tra gli ostacoli

– ‘Atterraggio’  1.37 m (dopo l’ostacolo);

– 1° passo        1.68 m;

– 2° passo       2.06 m;

– 3° passo        1.91 m;

– ‘decollo’        2.13 m (prima dell’ostacolo).

Ostacoli medi (400 m [45/.914/35/40])
Tra gli ostacoli

– 13 Passi  2.49 m;

– 14         2.31 m;

– 15         2.13 m;

– 16         1.91 m;

– 17         1.85 m .

46”78  Kevin Young  16/09/1966  USA  Barcelona  06/08/1992  12–13 passi

47”02  Edwin Moses  31/08/1955  USA  Koblenz  31/08/1983  13(12) passi

Siepi (3,000 m [.914 x 28/.914+3.66 m2 x 7])



Siepi/2
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